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Digital Pins:
* 5V, 40mA
MADE . : Can be used as OUTPUT or

INITALY

INPUT
* Itonly has 2 states,
either 0 =0Vor1=5V
* Avoid using pin0 & 1
e Pin3,5,6,9,10,11 are
. PWM pins
* Power Arduino TR ANy ‘ & PWM has 25€E)states if
board & Transfer data B e S ¥ Activated. Etc, 255 = 5V

0=0V

Analog Pins:

5V pin: .« 5V 40mA
* Only used as OUTPUT Can be used as OUTPUT or INPUT
¢ 5V,500mA * Ithas 1024 states.

Etc, 1023 =5V, 0 = OV
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Arduino Uno on /dev/tty.usbmodem1441




ACTIVITY 1:

void setup
i

pinMode €8, OUTPUT);
t

void loop ()

i
tone (&, 200, 2587,
delay €5600;
tone (8, 6B@, 257,
delay (508%;

t




ACTIVITY 3:

Light Emitted
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pinMode (12, OUTPUT );
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| digitalfrite 12, HIGH);
deloy (100073,
digitalfrite {12, LOW);
deloy (186685,

ACTIVITY 5:

void setup ()

{
Serial . begin(115200);
pinMode (AQ, INPUT) ;

void loop ()

{
Serial.print ("Light level =");
Serial.println(analogRead (Al0));
delay (500) ;




R R Since the components
! (LDRl] are arranged in series,
e current is the same
— Vauppy . throughout:
Vo/R2 = Vee/(RL+R2)
R, R, Ve
V,= Vec R2/(R1+R2)
L W

dark, R, >>R,,V, 2> 0OV
bright, R, >>R,, V, 2 5V
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ACTIVITY 6: void setup() {
Serial._begin(115200);

pinMode (&, OUTFUT) ;
pinMode (AQ, INPUT) ;

void loop() {
Serial println(analogRead (A0)) ;

o o o @
if (analogRead (AQ) >600)

{
digitalWrite(6,HIGH); delay(1500);
digitalwrite(6,L0W); delay(l500);
}
else i1f(anzlogRead(A0)>400 && analogRead (A0)<600)
{
digitalWrite(6,HIGH); delay(700);
digitalWrite(6,LO0W); delay(700);
}
else
{
digitalWrite(&,HIGH); delay(50);
digitalwrite(€,L0owW); delay(50);
}




